MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

MULTIPLICATION WITH 10 Rame:
Time: Score: y—
n 0.8 x 10 = 16 —6 x 10 =
2 0.0009 x 10 = 1 2e — 05 x 10 =
39 6 x 10 = 18) —5 x 10 =
)y —8 % 10 = 19) 8¢ — 05 x 10 =
5 —0.2 x 10 = 0 2x 10 =
6 —9e — 05 x 10 = 20 0.007 x 10 =
7 —0.04 x 10 = 22) —(.001 x 10 =
5 —6 x 10 = 23 0.003 x 10 =
9 —le—05x10= 29 —0.005 x 10 =
10 0.01 x 10 = ) =8 x 10 =
1) 6 x 10 = 200 ) x 10 =
120 —(.0005 x 10 = =9 x 10 =
13 —0.005 x 10 = 25 —0.0004 x 10 =
1) —0.06 x 10 = 29) —le—05x 10 =
15)0.009 x 10 = 0 =2 x 10 =
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